


Page: 2 0f 29




— o

W

o v—
av]
~—
O
A




Part List (WF309217 )

@ x1
| Back Panel

@Xl

b

/

Back Panel

27)x1 \
/)

Drawers Front Toplid
10 %2 - e —
Back Panel Back Panel
3% 15 %
Side cabinet Side cabinet
X2 X2
Top cabinet Support Sliding rails

Support Sliding rails

@Xl

Bottom cabinet

Bottom cabinet

@X2

N

Drawer Sides

Page: 4 0of 29




Part List (WF309217 )

X2 X2
VA /

Back Drawers Drawers Front

Drawer Sides Drawer Bottoms

/ 7

[ —— R —

Back Drawers Front Left Leg
371 T >
/
Front Right Leg Back Left Leg
N )ilo/
Back Right Leg Slats

X2 Xl

Drawer Sides Drawer Sides

Page: 5 0of 29




Part List (WF309218)

/

Mid Side cabinet

@Xl
/.

/

Mid Side cabinet

@ x1
S\ Y

Shelf (Mid) cabinet
Sx

v\

Shelf (Bottom) cabinet
@ x4

L7

Shelf (Top) cabinet
2

Shelf (Top) cabinet

Side cabinet
7%

Shelf (Mid) cabinet

X2
—

—

_/

X3
—

Headboard & Footboard Guard

Side Rails
3

Guard

Page: 6 0f 29




Hardware List (WF309217)

No. OUTLOOK DESC QTY
@ Dowel @8*30mm 16pcs
Screws M6*35mm 12pcs
@ Screws M6*80mm 6pcs
@ Bolts M6*50mm 4dpes
@ Bolts M6*25mm 8pcs
@ < Cross dowel M6*13mm | 52pcs
@ Round head screw #8*40mm | 9pcs
@ ™ Round head screw #8*15mm | 88pcs
@ WW Flat head screw #8*15mm | 9pcs
@ *““W Flat head screw #8*25mm | 53pcs
@ / Bolts M6*65mm 8pcs
@ Flat head screw #7*12mm | 30pcs
@ @ Door Hinge 2pcs
@ 9 Sliding Rails Kenlin 3pcs
@ Sliding Rails Kenlin 3pes
@ @ Handle 3pcs
@ % Allen key 60*22*4mm Ipc

ASSEMBLY TOOLS REQUIRED (NOT INCLUDED)

Page: 7 0of 29




Hardware List (WF309217)

No. OUTLOOK DESC QTY
@ Flat head screw #7*15mm | 4pcs
@ g{/;’/ Inhaler magnet 2pcs
@ “/% Flap fitting ( Left ) Ipc
@ W/é% Flap fitting ( Right ) Ipc

ASSEMBLY TOOLS REQUIRED (NOT INCLUDED)

Page: 8 0f 29




STEP 1:

i~
S

9

4pcs

Page: 9 0of 29




4pcs

4pcs

Ipc

4pcs

4pcs

STEP 4:

Page: 10 of 29




/ /
/ /
/ /
)/ / D D
/ /
o hd ﬂ‘
/ /
/ /
/ /
/ / /
/ / /
/ N / N
/ LY s
/
/ / / /
/ /
/ / Y Y
o / /
A/ \ £ /
N /
N /
v /
/ /
/ /
/ /
< / Cy
N/ N/
— =

STEP 6:

\ ly

W\
\

Page: 11 of 29




STEP 7:

Ipc

4pcs

Page: 12 of 29




Page: 13 of 29




Page: 14 of 29




STEP 11:

22pcs

ban

STEP 12:

@%%%%%%%%

%%%%%/

~7/_/

Page: 15 of 29




STEP 13:

i~
S

9

4pcs

Page:16 of 29




4pcs

4pcs

Ipc

4pcs

4pcs

STEP 16:

Page: 17 of 29




4pcs

STEP 17:

/ /
/ /
/ /
/ / S D
/ /
A ] A J
a n @
/ /
/ /
/ /
/ / /
/ y y . {
/ o / . °
/\ \' \I\
/
/ /
/ / / / .
S — SS / / AL/
/ /
/ / .
&4 N\ / / .
O/ /
/
§ / ) / —
/ / . )
v v y | 2
< / N /
N/ N/
- =

STEP 18:

2
[
r7

Page: 18 of 29




STEP 19:

Ipc

4pcs

STEP 20: K o 2pes
@ @\\‘\‘“ 2pcs

@ f— 2pcs

F

Page: 19 of 29




STEP 21:

22pcs

/ / /o / / /
/ / /o / / /
/ / /7 / / /
/ / / / / /

/

4
4

STEP 22:

Page: 20 of 29




N
ﬁﬁﬁs 3pces

STEP 23:

STEP 24 3pes
4pcs
2pcs

STEP 25: 3pes

Page: 21 of 29




2pcs

2pcs
p

18pcs

@

8pcs

™

Q) o

T A

STEP 26:

Page: 22 of 29




4pcs

STEP 28:

STEP 29:

Page: 23 of 29




STEP 30:

44pcs

Page: 24 of 29




Page: 25 of 29
















